



Injection Systems



Nipro Needles and Syringes

The challenge of any manufacturer in today's demanding healthcare environment is to provide customers with products that deliver both exceptional performance and value. Nipro lives up to that promise with a full range of injection systems that match a variety of clinical needs. Nipro's state-of-the-art manufacturing assures safe products of consistently high quality.

Disposable Syringe

See back page for ordering information



- Polypropylene syringe barrel and specially formulated elastomer stopper result in a smooth, accurate motion along the entire length of the barrel.
- Clear barrel assures rapid, precise volume reading.
- ETO sterilized and undergo automated inspection to assure uniform quality.
- Available with Luer Lock, Luer Slip and Eccentric Luer Tip.

Dose-Saver® Syringe



- Low "dead space" at upper end of barrel reduces waste of sometimes costly medications.
- Highly translucent syringe barrel enhances readability.
- Elastomer stopper helps assure consistently smooth plunger action.

Item #	Description	Packaging
JD+01D2238	1cc 22G x 1½ in.	
JD+01D2516-WEI	1cc 25G x 5/8 in.	100/Box, 10 Boxes/Case (1,000)
JD+03D2238	3cc 22G x 1½ in.	

Hypodermic Needle



- Proprietary grinding process results in an exceptionally sharp lancet point able to penetrate tissue smoothly and with minimal trauma.
- Thin wall needle compared to a conventional needle, permitting rapid and efficient drug delivery.
- Translucent hub provides confirmation of flashback.
- Color-coded hub for accurate, quick identification of needle gauge.

Item #	Description	Packaging
AH+1825-1M	18G x 1 in.	
AH+1838-1M	18G x 1½ in.	
AH+1925-1M	19G x 1 in.	
AH+1938-1M	19G x 11∕2 in.	
AH+2025-1M	20G x 1 in.	
AH+2038-1M	20G x 1½ in.	
AH+2050-1M	20G x 2 in.	
AH+2125-1M	21G x 1 in.	
AH+2138-1M	21G x 1½ in.	
AH+2219-1M	22G x 3/4 in.	100/Box, 10 Boxes/Case (1,000)
AH+2225-1M	22G x 1 in.	
AH+2238-1M	22G x 1½ in.	
AH+2325-1M	23G x 1 in.	
AH+2338-1M	23G x 1½ in.	
AH+2516-1M	25G x 5⁄8 in.	
AH+2525-1M	25G x 1 in.	
AH+2538-1M	25G x 1½ in.	
AH+2613-1M	26G x ½ in.	
AH+2713-1M	27G x ½ in.	
AH+2732-1M	27G x 11/4 in.	100/Box, 20 Boxes/Case (2,000)
AH+3013-1M	30G x 1∕2 in.	100/Box, 10 Boxes/Case (1,000)

1cc Syringe

Item #	Description	Packaging
JD+01L	TB Luer Lock without Needle	
JD+01T	TB Luer Slip without Needle	100/Box,
JD+01T2516	TB 1cc 25G x ½ in.	10 Boxes/Case (1,000)
JD+01T2609	TB 1cc 26G x 3/8 in.	_
JD+01T2713	TB 1cc 27G x ½ in.	

3cc Syringe

Item #	Description	Packaging
JD+03L	3cc Luer Lock without Needle	
JD+03L2025	3cc Luer Lock 20G x 1 in.	
JD+03L2038	3cc Luer Lock 20G x 11/2 in.	
JD+03L2125	3cc Luer Lock 21G x 1 in.	
JD+03L2138	3cc Luer Lock 21G x 1½ in.	
JD+03L2219	3cc Luer Lock 22G x 3/4 in.	
JD+03L2225	3cc Luer Lock 22G x 1 in.	
JD+03L2238	3cc Luer Lock 22G x 1½ in.	
JD+03L2325	3cc Luer Lock 23G x 1 in.	
JD+03L2332	3cc Luer Lock 23G x 11/4 in.	100/5 10 5
JD+03L2338	3cc Luer Lock 23G x 1½ in.	100/Box, 10 Boxes/ Case (1,000)
JD+03L2516	3cc Luer Lock 25G x 5/8 in.	23.02 (1,222)
JD+03L2525	3cc Luer Lock 25G x 1 in.	
JD+03L2538	3cc Luer Lock 25G x 1½ in.	
JD+03S	3cc Luer Slip without Needle	
JD+03S2025	3cc Luer Slip 20G x 1 in.	
JD+03S2125	3cc Luer Slip 21G x 1 in.	
JD+03S2219	3cc Luer Slip 22G x 3/4 in.	
JD+03S2225	3cc Luer Slip 22G x 1 in.	
JD+03S2325	3cc Luer Slip 23G x 1 in.	
JD+03S2516	3cc Luer Slip 25G x 5⁄8 in.	

CAUTION: Federal law restricts these devices to sale by or on the order of a physician.

5cc Syringe

Item #	Description	Packaging
JD+05L	5cc Luer Lock without Needle	
JD+05L2025	5cc Luer Lock 20G x 1 in.	
JD+05L2038	5cc Luer Lock 20G x 1½ in.	
JD+05L2125	5cc Luer Lock 21G x 1 in.	
JD+05L2138	5cc Luer Lock 21G x 1½ in.	100/Box, 10 Boxes/ Case (1,000)
JD+05L2225	5cc Luer Lock 22G x 1 in.	0400 (1,000)
JD+05L2238	5cc Luer Lock 22G x 1½ in.	
JD+05L2525	5cc Luer Lock 25G x 1 in.	
JD+05S	5cc Luer Slip without Needle	

10cc Syringe

Item #	Description	Packaging
JD+10L2025-WEI	10cc Luer Lock 20G x 1 in.	
JD+10L2038-WEI	10cc Luer Lock 20G x 1½ in.	
JD+10L2125-WEI	10cc Luer Lock 21G x 1 in.	
JD+10L2138-WEI	10cc Luer Lock 21G x 1½ in.	100/Box, 9 Boxes/
JD+10L2225-WEI	10cc Luer Lock 22G x 1 in.	Case (900)
JD+10L2238-WEI	10cc Luer Lock 22G x 1½ in.	_
JD+10L-WEI	10cc Luer Lock without Needle	
JD+10S-WEI	10cc Luer Slip without Needle	

20cc Syringe

Item #	Description	Packaging
JD+20ES	20cc Eccentric Slip without Needle	50/Box, 10 Boxes/
JD+20L	20cc Luer Lock without Needle	Case (500)

30cc Syringe

Item #	Description	Packaging
JD+30ES-WEI	30cc Eccentric Slip without Needle	50/Box, 8 Boxes/
JD+30L-WEI	30cc Luer Lock without Needle	Case (450)

50cc Syringe

Item #	Description	Packaging
JD+50ES-WEI	50cc Eccentric Slip without Needle	25/Box, 8 Boxes/
JD+50L-WEI	50cc Luer Lock without Needle	Case (300)

